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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) henefl wewem S W OF T AN st fo)
Candidate must write first his / her Roll No. on the question paper
compulsorily.
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All the questions are complizoi.
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Write the answer to each question in the given answer-book only. %
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SECTION - A

FgforRed T ;

Multiple choice :

) e v & aw o wd fees wm w I g | foi)
Select the correct answer of following questions and write in the answer book.

) i fRw T W Eaw | g ot ?

[1]
) w) fem ) wE
|) WA 3) W
Which Nation did Germania became the allegory?
A) Britain B) France
C) Germany D) Russia
i T gd 1 forwt A= | | femea i 22 (1]
T w) e e 7) =Egh
|)  wifd 3) TH TR G H gEIw
Which of the following symbolizes the rays of the rising Sun?
A) BeingFreed B) Heroism
C) Peace D) Beginning of a new era
/il} = 1 A ol wiRea = Ataet AR WqH foan (1]
) drdl A q) H.oR. Ay
q) "R 3) meaw
Who among the following was awarded the Nobel Prize tor Literature?
A) C.V.Raman B) V.S.Naipaul
C) Mother Teresa D) AmartyaSen
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W) ‘o T 2 (1]
: R) EARGE H a) anfureas &9
§) o Fw 3) A e wf

What is “Jhum Cultivation”?
A) Shifting Cultivation
() Plantation Cultivation

B) Commercial Cultivation

D) Intensive Subsistence Cultivation

\) R e @iy fae AR R T [
H) wEESR q)
q) A 3) TeEd
Over which river has the Sardar Sarovar Dam been built?
A) Mahanadi B) Ganga
C) Narmada D) Godavari
vi) T wE W g g? [1]
S N -t [) W - wEw
@) R - T 3) W@ - wE
The Rabi Crop pair is - :
A) Wheat - Barley B) Wheat - Rice
C) Jowar-Bajra D) Mustard - Cotton
vi) Afcwaa MaREER T AR E - [1]
H)  wrer q) Fwmw
W) IR 3) e
The name of the capital of Belgium is .
A) Colombo B) Bangkok
C) Namur D) Brussels
iy i e v ST Wt 1 e o e 6 0
h 3) =amn a) &fe wery
) o 3)  FHR WA
Which of the following subject s not inany list of power distribution in constitution”

A) Trade B)
C) [Lducation

Foreign relation

D) Computer soltware
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x) m&m(BAMCEF)ﬁmwmé- (1]
A) THNH K 7) Raia
q) wH eiEa 7) wog |
BAMCEF organisation is related to -
A) Politicians B) Farmers
C)  Government employees D) Workers
X T e R @ areh e & - (1)
¥) wgw e e s 7) fvads
q) fed &= 7) Hifd amam

Human Development report is published by -
A)  United Nations Development Programme B) World Bank

C) ReserveBank D) NitiAayog
) fifrae 8 & wiafi s 2 - 1
N) IEm ‘ a) afEm
W) warRwa ) WUSRY RAN
Occupation related to secondary sector is -
A) Industries B) Banking
C) Communication services D) Storage services
i) firm § Fran 2w g fafmior 3 1 o @ - 1]
H) TAOE a) <=
W) sefern 3)  swmfe
Which of the following countries iy anexample of a cheap manufacturing hub?
A) England 3) China
C) Australia D) America
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Fill in the blanks - '
i Th WY g TR 391 1 ST F o s & Frrer gy e 211

if)

i)

/

; . : : i ¢ called
Companies, that do business in several countries at the same time ar
corporations.

evizer & wr e e e wee el (1]

The resources, obtained from biosphere and which have life, are knownas

e 35 o e smeen 36 3R S QAR s all]

A person who does not discriminate others on the basis of religious beliefs, is known

as .
frdt 2w Y g 3T W & |l F1 7 B (1]
Income of any country is the income of all the of that country.
FHa® G A g @ 2 1]
Tertiary sector is also called as

neﬁamﬁﬁ%ﬁwﬂu&mﬁa@ﬁaﬁw%i [1]
Rapid improvement in has stimulated the globalisation process.

eI (T % I TE W q U i A Sia) ¢

',-"' Very short (Write the answer of the question in one word or one line) :

) TritaT 6 TR A i W R e e (1]

' Why statues of Marianne were erected in public squares?

& Readmrd Y 1890 % Twe § 90 whiv wafir @t i 6 g gen fare 1]
Which disease killed 90 percent of cattle in the 1890s?

2 32 T werer fora 2 i g R T [1]
In which country was the Bretton woods conference held?

IQ A R W 2R At 2 SR & T Fargu) [4+Yi=1]

Write names of two things that are obtained from forest.
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V) rAC ) %?
‘ What is a“Tanka™?

[1]

vi) mﬁmﬁaﬁmag@ﬁmmﬁf%mml [+Y4=1]
‘ Write names of two major fibre crops grown in India.
vy st v 1 Il
When did Sri L.anka emerge as an independent country?
vii) W wfe d R & sreman et i @ omglE W w gt Rm e (1]

How many languages are recognised as scheduled languages by the Indian
constitution besides Hindi? https://www.rajasthanboard.com

i) ot AR & oo g1 % w9 H T w1 i o seE ARl 1}
Give any one example of the transformation of the movement into a political party.

y et R @ 3w w2 1)
What do you understand by sustainable development?

) ITdh HTER WA A i ot wgl Pt 2 (]
According to you where are most people of India employed?

xi)  Yraah w F A w22 < 1]

) r

What does Ranbaxy company produce?

Tug - ¥
SECTION - B

TR T - S E. 048 16 % I e (v wfen 50 vreg) :

Short Answer Questions - Write the answer of the question Serial No. 04 to 16

(Words limitation of 50 words) :

4 wéaeFn 2|

Whatis conservatism?

5y e Frdt & frem frm e R & e 3 T4 42 21

, M . . . .
FFor what reasons the peasants of the Kheda district were not in position to pay the revenue?
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6y ST Y w27 2]

¥

What is Tariff ?

TR R0 T W ) Wl § ww 121

Explain in brief the ‘Forest Conservation by Community’.

8) WA % T - e vt ¥ T § o snoa v 6 W QREiel 1 e AR w6
C R e fE-fm el w om i 2]
As the Water - Resource Minister of India, if you were asked to draft a river valley project,
what points would you take into account?
9) WS Ft A = S 2]
“  Discuss organic agriculture.
10) &1 & wrEert # o= w@ agem R s 96y § e S| 2]
Explain in brief the ‘system of check and balance’ in power sharing.
1)) wdte sgawen @ FYE 9 a9 we ffke) 12]
Explain any two features of federal system.
12) mm@nﬁ%ﬁu%%ﬁwﬁnmm%ﬁawgﬁwmﬁ? HITE0T a9zmea)
' 12]
According to your view what is the difference between sectional interest groups and public
interest groups? Explain by example.
13) R FetEwim mym A 9 @ gam 7 21
‘ What do you understand by non renewable resources?
Wmﬁmﬁaﬁaﬂiarﬁ%ﬁkﬁ%mw[ 2

Give any two examples of Primary Sector Acgviny,
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15) @4 TEad WY & i o i) 2]
Write any two benefits of sel{ help group.

16) TEOA FEAET FH T FAl & 7 TG

How do multinational companies work? Explain.

2]

T® - |

e ——

SECTION - C

& 90 U9 - W 17 R/ 20 F I Ry (wrsz 100 w1sq) :

Long answer type questions - Write the answers of the question 17 to 20
(Word limitation 100 words) :

17) =< T % SER U2 &3 37
What is a nation according to Ernest Renan?

Fga/OR
IENETE! Tegang i favreamd fafkaa)

Write the features of liberal nationalism.

[3]

131

18y W & HIUR W GEEET o1 aitenon wifm)
Classify the resources on the basis of exhaustibility.
Far/OR
e e R FR §7 3 R0 @ e % 3um fafa) [1+1+1=3]

What is soil-erosion? Write the reasons of soil-erosion and methods of soil-conservation

[1%2+1'4=3]

19) mﬁmﬁm&mﬁmwl

[3]
‘ Explain the three determinants of social divisions.
Fua/OR
*mﬁmﬁaﬂmﬁrmﬁ’aﬁmmﬁm -
Explain “the origins of social differences’.
$_08-Social Science 6004 Torn O
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20) FH B AR F-W W GRE re iy 57 Rl o ecrE R E]

What facilities do you get from banks? Mention any three.

Faar/OR

tﬁﬁﬂﬁ%@@“ﬁﬂ%%hgﬁﬂﬁﬂm%rﬂ 39 2@ FUA W TEHA 87
g wa < RE Hifvm 3]
“Banks use a large part of their deposits for giving loans.” Do you agree with this statement?
Explain your views.

g - §
SECTION - D

frarsreTe 99 - w9 21 &/ 22 % I forRed (vreg €W 250 71sg)
Essay type questions - Write the answer of question 21 to 22 (Word limitation 250 words) :

A1) HEEA TR & S Tigdl & TfafaiiEt JuA &gl 4]
Describe the activities of the cities during Non-Cooperation Movement.
‘ Fyar/OR
TETe W A JrEgvad w1 I9EH S % forg war-Ta e fE? [4]

What did Mahatma Gandhi do to abolish untouchability?

22) i T ¥ R wrda dfaam § w aeam R m 32 S an S e fik
[4]

What provisions are made in the Indian Constitution for Secular Governance? Discuss any

four.
srerar/OR
mﬁnﬁwaﬁﬁﬁiﬁmﬁmgﬁﬁﬂwﬁﬁﬁﬁlﬁ?aﬁéwmmﬁﬁm 4]

Why is the position of women still far behind of men in India? Explain any four reasons.
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23) W T IW @ ™ vt A e -

Write the answer in the given map :-

£ T a3 T AR | fefatea s osifea Sifig - [1+1+1+1=4]
H) A
) ™
|
3) e
Mark the following in the given outline map of India -
A)  Ajmer
B) Gava
C) Durg
D) Nellore
Fua/OR
Frd ) st 3 v W Freafertia @ s S - [1+1+1+1=4)
;) T
q) [EavEl
|q) A
2) Hhodand
Mark the following in the given outline map of India -
A) Naraura
B) Rawatbhata
C) Tarapur
D) Kalpakkam

F F
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